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Match #30


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
This book contains a recipe for French fudge in the last chapter. The baker who makes the fudge helps Caractacus Potts, and his family, capture some bandits. The Potts succeed with the help of a three-time Grand Prix winner which acquires the ability to fly. This happens in what children’s novel by Ian Fleming? 

ANSWER: Chitty Chitty Bang Bang
2.
It is the limit of the ratios of successive terms of the Fibonacci sequence and equals the quantity one plus the square root of five end quantity divided by two, which is approximately 1.618 and is represented by the Greek letter phi (fee).  Name this term, also known as the divine proportion.

ANSWER: Golden ratio or Golden mean or Golden proportion or Golden number
3.
Widin, their last leader, was defeated by the Byzantines in A.D. 561. They were originally called the Greuthingi (groo-thing-ee). They established a kingdom in modern-day Italy under Theodoric the Great. Their name can mean either ‘gleaming,’ or ‘from the east.’ What barbarian tribe must never be confused with the Visigoths? 

ANSWER: Ostrogoth(s)

4.
Record promoter Albert Grossman sought to combine the hit-making powers of a tall blonde woman, a funny guy, and a good-looking guy. However, the name Yarrow, Stookey, and Travers was rejected for these folk singers. Their 1962 debut album included songs like “Lemon Tree,” “500 Miles,” and “If I Had a Hammer.” What folk group had John Denver write their only American #1 hit, “Leaving on a Jet Plane”? 

ANSWER: Peter, Paul, and Mary
5.
He criticized string theory, claiming that proponents ‘are not calculating anything.’ In 1986, he demonstrated, on national TV, how low temperatures lessen the resilience of O-ring sealant, such as that used in the Challenger.  What Caltech physics professor also played the bongo drums, offered advice on how to pick up girls, and delivered several Lectures on Physics? 

ANSWER: Richard Feynman (FINE-man)

6.
His last movies were A Countess from Hong Kong and A King in New York. His film, Modern Times, is one of the last silent films. He ate a boot in The Gold Rush. He played Adenoid Hynkel, the Fascist leader of Tomainia, in The Great Dictator. What comedian is best-known for his character, the ‘Little Tramp’? 

ANSWER: Charlie Chaplin (NOTE: technically, Modern Times had sound effects, but no dialogue.) 

7.
This novel’s protagonist has her heart broken by Lee Rynor, but then meets Ben Blake. Other characters in this novel include the protagonist’s baby sister Annie Laurie, stepfather Mr. McShane, and brother Neeley. Francie Nolan matures in what Betty Smith novel in which a woody plant becomes bigger in a New York City borough? 

ANSWER: A Tree Grows in Brooklyn
8.
He lost the First Bishops’ War, ending eleven years of Personal Rule. He allowed Parliament to meet every three years and abolished the Star Chamber. Nonetheless, the Long Parliament opposed him, and so he was tried for treason. His defense that no court could try a monarch failed. What English King was beheaded on January 30, 1649? 

ANSWER: Charles I
9.
The Pact of Umar and the Byzantine laws regarding treatment of Jews served as models for this legal status. This word comes from an Arabic word meaning ‘pact of protection,’ and originally only ‘People of the Book’ – Jews and Christians – could apply. What term describes a non-Muslim in an area governed by sharia (SHAH-ree-uh) law? 

ANSWER: ahl al-dhimmi (DEE-mee) (accept ahl al-kitab before ‘pact of protection’ is said)
10.
Composed of 51 amino acid residues, its name comes from the Latin for island.  The determination of its structure won Frederick Sanger a 1958 Nobel Prize and its discovery resulted in a 1923 Nobel Prize for J. J. R. Macleod and Frederick Banting.  Name this hormone produced in the islets of Langerhans that is used to treat diabetes.

ANSWER: insulin
11.
He was Commonwealth Attorney for Henrico County between 1988 and 1994, and Virginia’s Attorney General between 1994 and 1998. His promises of ‘4,000 new teachers’ and ‘no car tax’ got him elected governor in 1997. A Senate race is in the cards for what former GOP Presidential candidate who was governor before Mark Warner?
ANSWER: Jim Gilmore
12.
Native to South America, its scientific name is Aracis (ah-rah-KIS) hypogaea (heye-poh-GUY-uh) and top producers of this plant include China, India, Nigeria, Indonesia, and the United States.  The experimental drug TNX-901 may combat an allergy to it that is very deadly and becoming more common.  Name this legume associated with Jimmy Carter, George Washington Carver, that state of Georgia, and a type of butter.

ANSWER: peanut
13.
He disguises himself as a deaf/mute Spaniard. He starves to death in McDougal’s Cave, and thus is not able to carry out his revenge against the Widow Douglas. After killing Dr. Robinson, he frames Muff Potter, and escapes from court when the deception is found. What half-White, half-Indian is the villain of The Adventures of Tom Sawyer? 

ANSWER: Injun Joe
14.
This trihalomethane (try-hay-loh-meh-thane) is a colorless liquid and has a chemical formula of CHCl3.  Its former use was abandoned due to its toxicity and tendency to cause fatal cardiac arrhythmia. It is now used as a reagent and a solvent.  Name this former anesthetic that once competed with ether but is still favored by moustache-twirling villains.

ANSWER: chloroform
15.
The National Association of Realtors held its convention here in November 2006, as scheduled. The NBA awarded it the 2008 All-Star game. Its Old Carrollton, Old Marigny (mah-reen-yee), and Algiers neighborhoods have largely been undamaged in the past three years. In 2006, Ray Nagin won a second term as mayor of what city whose Ninth Ward was flooded during Hurricane Katrina? 

ANSWER: New Orleans
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
THIS IS A COMPUTATION QUESTION. What is the circumference of a circle with an area of 36 pi square feet?

ANSWER: 12 feet
1B.
The victim of the ‘corrupt bargain’ of 1824 was what man, who later became President and whose Vice-Presidents were John C. Calhoun and Martin van Buren? 

ANSWER: Andrew Jackson
2A.
An alumna of Stuart Hall, what fantasy writer wrote the Ship and Dragonriders of Pern series? 

ANSWER: Anne McCaffrey
2B.
What shoulder muscle’s name derives from its triangular shape?

ANSWER: deltoid
3A.
It was written for an Electronika 60 in 1985 by Alexey Pajitnov (pah-yeet-noff). In what game do seven different pieces, each containing four squares, fall from the sky?

ANSWER: Tetris
3B.
Write down the following sentence. (Quizmaster: speak slowly) “When I gave Michael his gift, we listened to the radio, and then we ate some cake.” (Quizmaster: speak normally) How many objects – direct, indirect, or prepositional – are in that sentence?

ANSWER: four (Michael – indirect, gift – direct, radio – prepositional, cake – direct) 

4A.
Auroras appear in the lower part of what portion of the atmosphere, which, like the stratosphere, has temperatures that increase with height?

ANSWER: thermosphere
4B.
What former American Idol winner collected the 2006 Grammy for Best New Artist for hits like ‘Jesus Take the Wheel’ and ‘Before He Cheats?’
ANSWER: Carrie Underwood
5A.
What Virginia city is home to John Handley High School, Shenandoah University, and the Shenandoah Apple Blossom Festival? 

ANSWER: Winchester, Virginia

5B.
THIS IS A COMPUTATION QUESTION. What prime number comes between 115 and 130?

ANSWER: 127
6A.
What law states that force equals mass times acceleration?

ANSWER: Newton’s second law of motion

6B.
From a Greek word for ‘thanksgiving,’ this central act of Christian worship consists of taking bread and wine to represent the body and blood of Christ. What ceremony is also called Communion?
ANSWER: Eucharist
7A.
Ivan Turgenev (tur-GHEH-neff) was the first to make popular what philosophical term that Friedrich Nietzsche (neet-CHEH) defined as the ‘will to nothingness?’
ANSWER: nihilism
7B.
THIS IS A COMPUTATION QUESTION. How many total bases are 12 home runs, 4 triples, 18 doubles, and 47 singles?

ANSWER: 143 bases

8A.
THIS IS A COMPUTATION QUESTION. What is the horizontal asymptote of x = y / (y – 6) (read as: y divided by the binomial y minus 6)?
ANSWER: y equals 6
8B.
What ‘Saviour of Verdun’ is now viewed unfavorably in France for serving as chief of state for Vichy (vee-shee) France between 1940 and 1944? 

ANSWER: Henri (awn-REE) Philippe Pétain (pay-TAN) (accept either Henri or Philippe as the first name)

9A.
Write down the following French sentence. (Quizmaster: speak slowly or spell it out.) Je fais quelque chose. (zheh fay kel-kuh shohz) (Quizmaster: speak normally.) Please express this sentence in the plus-que-parfait (ploo-keh-par-fay) or pluperfect tense. 

ANSWER: J’avais fait quelque chose. (zhah-vay fay kel-kuh shohz)

9B.
The windmill for Animal Farm was conceived by what pig that was driven off after losing a power struggle to Napoleon? 

ANSWER: Snowball the pig

10A.
Voluntary and involuntary are the two types of what felony, in which a human life is taken, that ranks below murder? 

ANSWER: manslaughter
10B.
What is the most basic number on the pH scale?

ANSWER: 14
Third period, 15 toss-ups, 10 points each

1.
A popular concept in recent months has been reducing one’s ‘footprint’ of this element, in terms of amounts of the element contributed to the atmosphere by human activities.  Often, this ‘offset’ will be a donation towards reforestation or alternative fuel projects in other countries. What is this element, most often found in diamonds and in a greenhouse gas with two atoms of oxygen?

ANSWER: carbon
2.
Its last ruler was Francis II, and the first was Otto the Great. The Investiture Controversy and the Thirty Years’ War weakened its rulers’ power. Despite its name, it consisted of hundreds of kingdoms, principalities, duchies (duh-CHEEZ), counties, and Free Imperial Cities. In 1806, Napoleon abolished what entity that theoretically ruled over Germany? 

ANSWER: Holy Roman Empire
3.
In 1943, it was 30% of gross domestic product, and it didn’t exist between 1998 and 2001. In 2005, it was about 2.6% of gross domestic product, but there was concern that Social Security surpluses were being used to artificially reduce it. What figure is the amount the US government spends over and above how much it receives in taxes? 

ANSWER: U.S. budget deficit (accept clear-knowledge equivalents, prompt on ‘deficit,’ and don’t accept or prompt on ‘debt.’)

4.
She lived with the married George Lewes as husband and wife, causing a scandal in 19th century London. Her essay ‘Silly Novels by Lady Novelists’ led her to adopt a masculine nom de plume. Mary Ann Evans was the real name of what author of The Mill on the Floss, Adam Bede, Silas Marner, and Middlemarch? 

ANSWER: George Eliot (accept Mary Ann Evans before it is said in the question)
5.
The hymn associated with this symphonic poem was reworked into a standalone piece, which became the melody of Biafra’s national anthem and the Christian hymn “Be Still, My Soul.” It was written in opposition to the Russification processes that were starting when it was written in 1899. Jean Sibelius is best-known for what symphonic poem about the struggle of his native land? 

ANSWER: Finlandia
6.
It is the size of one byte, and it takes 3 clock cycles. Common uses include: forcing memory alignment, preventing hazards, occupying a branch delay slot, or most importantly, timing purposes. Name this command that in assembly language that does nothing besides waste CPU clock cycles.

ANSWER: NOP (No-OP) or No Operation 

7.
Hesiod (heh-shud) says she had Pontus through virgin birth, and then had Oceanus with her husband. However, after her husband’s castration, she did the normal thing for Greek gods, having more sons, Creusa and Spercheus (sper-kee-us), with her son Oceanus. Who also had the Cyclops and Titans with her first husband, Uranus, and was the personification of the Earth in Greek myth?

ANSWER: Gaia or Ge (gay)
8.
After World War I, he returned home to Pall Mall, Tennessee, and operated a mill. His attempt to claim conscientious objector status failed and he was assigned to the 328th Infantry. He received his first promotion due to his sharp-shooting abilities. What World War I hero’s Medal of Honor citation reads: ‘In this heroic feat, the machinegun nest was taken, together with 4 officers and 128 men’? 

ANSWER: (Corporal or Sergeant) Alvin York
9.
THIS IS A COMPUTATION QUESTION. What percent of an 18 foot by 30 foot floor is covered by a rug measuring 9 feet by 9 feet, given that the floor has an area of 540 square feet and the rug has an area of 81 square feet?

ANSWER: 15 percent

10.
This word comes from an Old English word meaning ‘take an oath.’ When paired with ‘off,’ it means to promise to give up something; when paired with ‘by,’ it means to have great confidence in something; when paired with ‘in,’ it means to administer an oath of office to someone, like a court witness or the President. What word refers to either a solemn declaration made on a god’s name, or to the use of curse words? 

ANSWER: swear (accept word forms)

11.
One biot is equal to ten of this unit that is named after a French physicist.  It is equal to one coulomb per second.  Given two parallel infinite-length conductors one meter apart in a vacuum, one of this unit produces a force equal to two times ten to the minus seven newtons per meter.  Name this base SI unit of electric current.

ANSWER: ampere
12.
This man has directed a number of music videos, including one for ‘Falling in Love (Is Hard on the Knees).’ With producer Jerry Bruckheimer, he directed a pair of films starring Will Smith and Martin Lawrence, and one featuring Nicholas Cage set on Alcatraz.  What director of the two Bad Boys movies and The Rock is known for dramatic explosions and action scenes, including those in 2007’s Transformers? 

ANSWER: Michael Bay
13.
During this battle, fifty men of St. Patrick’s Battalion were executed. Six teenage boys, known as Los Niños (neen-yohs) Héroes (ay-roh-ays), fought to the death, as the castle being attacked was the Mexican military academy. The ‘halls of Montezuma’ in the Marine Corps Hymn refers to what Mexican War battle? 

ANSWER: Battle of Chapultepec 

14.
In this work, the True Church, personified by Una, is opposed by the Roman Catholic Church, personified by Duessa. Both talk to the Redcrosse Knight, the personification of England, and with the title character, Gloriana, the personification of Elizabeth I. What is this epic poem by Edmund Spencer?

ANSWER: The Faerie Queene
15.
In Scientology, it is the state achieved by someone that has erased all engrams. It is a UNIX command issued to remove all writing from the screen. It is the fulfilling of a financial obligation, such as when funds are fully transferred after writing a check. What word can also mean transparent, as with water or a glass, or can refer to a sky that is free of clouds? 

ANSWER: clear
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
This leader transferred power to his brother Raul in 2006, prior to surgery. Despite rumors of his death that sparked celebrations in Miami, official reports state that he is alive and well. 2009 will mark the 50th anniversary of his overthrow of Fulgencio Batista.  Who is this man, the current President of Cuba?

ANSWER: Fidel Castro
2.
In May 2007, this author wrote Animal. Vegetable. Mineral., where she sought to eat only locally-grown food. Two of her books are about Kentucky native Taylor Greer, who lives near the Oklahoma reservation and adopts a Cherokee baby: The Bean Trees and Pigs in Heaven. What author follows the Price family’s move from Georgia to the Belgian Congo in The Poisonwood Bible? 

ANSWER: Barbara Kingsolver
3.
It was opened in 1894 due to development in the East End. In 1952, a double decker bus jumped the gap that was forming when its bascules were being raised. It is on the Inner Ring Road, the boundary of the congestion charge zone in London. It is often mistaken for London Bridge. What is this bridge named for a nearby landmark?
ANSWER: Tower Bridge 

4.
THIS IS A COMPUTATION QUESTION. How many consecutive ones make up the binary form of 511, given that 256 equals 2 to the eighth power?

ANSWER: nine
5.
They can be tertiary, secondary, or primary ones known as Khelifis; can be aliphatic or aromatic; and can be chiral (kye-rul) or not chiral. They act as bases and structurally resemble ammonia.  Examples of their chemical formulas include C3H9N, C2H5N, C2H7N, and CH5N.  Name this type of functional group that has nitrogen as its key atom and form acids that make up proteins.
ANSWER: amine
All questions ©2007 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

